

1.3.3

$$a_n \rightarrow \alpha, b_n \rightarrow \beta \in \mathbb{R}.$$

(1)

$$(1) a_n \pm b_n \rightarrow \alpha \pm \beta.$$

$$(2) a_n \cdot b_n \rightarrow \alpha \beta$$

$$(3) a_n \neq 0, \alpha \neq 0 \text{ a.e. } \frac{1}{a_n} \rightarrow \frac{1}{\alpha}.$$

$$\text{I (1)} \quad \frac{3 \cdot 2^n - 5}{2^n + 3} = \frac{3 - 5 \cdot \left(\frac{1}{2}\right)^n}{1 + 3 \cdot \left(\frac{1}{2}\right)^n} \rightarrow \frac{3 - 5 \cdot 0}{1 + 3 \cdot 0} = 3.$$

$$|h| < 1 \text{ a.e. } h^n \rightarrow 0$$

$$(2) \quad \frac{3h^2 + 4h}{2h^2 - 3} = \frac{3 + 4 \cdot \frac{1}{h}}{2 - 3 \cdot \frac{1}{h^2}} \rightarrow \frac{3 + 4 \cdot 0}{2 - 3 \cdot 0} = \frac{3}{2}$$

$$\frac{1}{h^k} \rightarrow 0 \quad (n \rightarrow +\infty)$$

$$(3) \quad \frac{3n - 4}{2n^2 + 1} = \frac{3 \cdot \frac{1}{n} - 4 \cdot \frac{1}{n^2}}{2 + \frac{1}{n^2}} \rightarrow \frac{3 \cdot 0 - 4 \cdot 0}{2 + 0} = 0$$

$$\begin{aligned}
 \text{I (1)} \quad & \underline{(n+1)n(n-1)} - \underline{n(n-1)(n-2)} \\
 &= n(n-1) \{ (n+1) - (n-2) \} \\
 &= 3n(n-1)
 \end{aligned}$$

$$\therefore \int n(n-1) = \frac{1}{3} \{ (n+1)n(n-1) - n(n-1)(n-2) \}$$

$$(2) \quad \sum_{k=1}^n k(k-1) = \frac{1}{3} \sum_{k=1}^n (f(k) - f(k-1))$$

$$f(k) = (k+1)k(k-1)$$

$$= \frac{1}{3} (f(n) - \boxed{f(0)})$$

$$\therefore \int_0^n k(k-1) dk = \frac{1}{3} (n+1)n(n-1)$$

$$\boxed{f(n)} - \cancel{f(n-1)}$$

$$k=n$$

$$\cancel{f(n-1)} - \cancel{f(n-2)}$$

$$k=n-1$$

$$\cancel{f(n-2)} - \cancel{f(n-3)}$$

$$k=n-2$$

$$\vdots$$

$$\vdots$$

$$+ \cancel{f(1)} - \boxed{f(0)}$$

$$f(n) - f(0)$$

'in 2'

$$\sum_{k=1}^n (f(k) - f(k-1))$$

$$= f(n) - f(0)$$

$$\sum_{k=1}^n k^2 = \sum_{k=1}^n k(k-1) + \sum_{k=1}^n k$$

$$= \frac{1}{3} (n^3 - n) + \frac{n(n+1)}{2}$$

$$1 + 2 + 3 + \dots + n = S$$

$$+ \underline{n + (n-1) + (n-2) + \dots + 1 = S}$$

$$2S = (n+1) + (n+1) + (n+1) + \dots + (n+1)$$

$$= n(n+1)$$

D_n : 国債の残高.

P_n : $703424 - 115 = 702274$.

r : 5.14%
一定とす

$$D_{n+1} = (1+r)D_n - P_{n+1}$$

$$\rightarrow D_n = (1+r)^n D_0$$

$$- \left\{ (1+r)^{n-1} P_1 + (1+r)^{n-2} P_2 + \dots \right.$$

$$\left. \dots + (1+r) P_{n-1} + P_n \right\}$$

$$\frac{D_{n+1}}{(1+r)^{n+1}} - \frac{D_n}{(1+r)^n} = - \frac{P_{n+1}}{(1+r)^{n+1}}$$

$$\sum_{k=0}^n \left(\frac{D_k}{(1+r)^k} - \frac{D_{k-1}}{(1+r)^{k-1}} \right) = - \sum_{k=1}^n \frac{P_k}{(1+r)^k}$$

$$\frac{D_n}{(1+r)^n} - D_0 = - \frac{P_n}{(1+r)^n} + \frac{P_{n-1}}{(1+r)^{n-1}} + \dots + \frac{P_1}{(1+r)}$$

III.

$$f(x) = \frac{1}{x^2}$$

$$f'(x) = -\frac{2}{x^3}$$

$h \neq 0$ է 33.

$$\begin{aligned} & \frac{1}{h} \cdot (f(\alpha+h) - f(\alpha)) \\ &= \frac{1}{h} \cdot \frac{\frac{1}{(\alpha+h)^2} - \frac{1}{\alpha^2}}{h} = \frac{1}{h} \cdot \frac{\alpha^2 - (\alpha+h)^2}{\alpha^2(\alpha+h)^2} \\ &= \frac{(2\alpha+h)(-h)}{h \alpha^2 (\alpha+h)^2} \\ &= -\frac{2\alpha+h}{\alpha^2(\alpha+h)^2} \end{aligned}$$

$A^2 - B^2$
 $= (A+B)(A-B)$

$h_n \rightarrow 0, h_n \neq 0 \quad \forall n \in \mathbb{N} \quad \{h_n\} \subset \mathbb{R} \setminus \{0\}$

$$\frac{f(\alpha+h_n) - f(\alpha)}{h_n} = -\frac{2\alpha+h_n}{\alpha^2(\alpha+h_n)^2}$$

$$\rightarrow -\frac{2\alpha}{\alpha^2 \cdot \alpha^2} = -\frac{2}{\alpha^3}$$

↓

$$\lim_{h \rightarrow 0} \frac{f(\alpha+h) - f(\alpha)}{h} = -\frac{2}{\alpha^3}$$

$\{h_n\} \subset \mathbb{R} \setminus \{0\}$
 $\Rightarrow$ ճշմարիտ.

$$f'(\alpha) = -\frac{2}{\alpha^3}$$

$$\text{IV } f(x) = \frac{1}{1+x^2}$$

$$h_n \rightarrow 0, h_n \neq 0$$

$$2x+1 \in [h_n]$$

$$\frac{f(x+h_n) - f(x)}{h_n} = \frac{1}{h_n} \left(\frac{1}{1+(x+h_n)^2} - \frac{1}{1+x^2} \right)$$

$$= \frac{1}{h_n} \left(\frac{(1+x^2) - (1+(x+h_n)^2)}{\{1+(x+h_n)^2\}(1+x^2)} \right)$$

$$= \frac{1}{h_n} \frac{(2x+h_n) \cdot (-h_n)}{\{1+(x+h_n)^2\}(1+x^2)}$$

$$= - \frac{2x+h_n}{(1+(x+h_n)^2)(1+x^2)}$$

$$\rightarrow - \frac{2x+0}{\{1+(x+0)^2\}(1+x^2)}$$

$$= - \frac{2x}{(1+x^2)^2}$$

$$f'(x) = \lim_{h \rightarrow 0} \frac{1}{h} (f(x+h) - f(x))$$

$$= - \frac{2x}{(1+x^2)^2}$$

天上
キヤニニ

夕日人.



果下
馬の土馬

$$f(k) - f(k-1)$$

$$(k+1)k(k-1)$$

I. (1) $\sum_{k=1}^n (k^3 - k)$ を求めよ.

(2) $\sum_{k=1}^n k^3$ を求めよ.

II. $f(x) = \frac{1}{2+x} \quad (x \neq -2)$

$f'(x) = ? \quad (x \neq -2)$
(定義に従って、2 3 + 算 算)

III. $g(x) = \frac{1}{x^3} \quad x \neq 0$

$g'(x) = ? \quad (x \neq 0)$